Winter Quarter

Section # 1

This week you will be observing our primary user, Melissa.  In Amy Schwartz’s lecture, she discusses and demonstrates using a helpful chart to begin complying and analyzing what you observe.  In the chart below, fill in the headings and give an example of each from the vending machine design project that Amy talks about in her lecture.

	
	
	

	
	
	


EDC – Quiz # 3

Winter Quarter

Section # 1

1. This week we are working on identifying some of the Design Requirements (attributes the design have or functions the design much perform) for our project.  Name two design requirements for our project and for each, a possible specification to measure it.

EDC Lecture 3—Amy Schwartz (IDEO)

Options for Quiz Questions

1) (JCA)  What is a workaround?  Explain their importance to the design innovation
process.
2) (JCA)  Watch a three minute video of a user trying to open a door while carrying
several bags and packages.  Using the three-column layout presented in the
lecture, assess the needs, opportunities, and possible solution paths to
solve the problem(s) you see.
3) (JCA)  If your height is more than 5'10", raise your stool so that it is as high
as possible.  If your height is less than 5'10", lower your stool so that
it is as low as possible.  Assuming that the height of the stools cannot be
changed, come up with three alternatives for providing a functional work
surface for all users at your table.
4) (KC)  According to Amy Schwartz’s lecture, why it important to observe how users interact with designs rather than simply asking them what they like or don’t like about a design?

It is important to observe users because 1) they are not always aware of their own preferences and behaviors; 2) they may be unwilling to admit that they struggle to use a design.

5) (KC)  Schwartz describes user needs in terms of a five-level system.  Name the five levels and explain how a successful solution to your section’s design problem will meet user needs on at least two of the five levels.

· Physical

· Perceptual

· Cognitive

· Emotional

· Social and Cultural

Example:  One-handed egg cracker for a user with hemiparesis

A successful solution to this problem will  

· meet the physical needs of the user by allowing him/her to crack an egg

· meet the user’s emotional needs by providing him/her with a greater sense of independence

· meet the user’s social and cultural needs by allowing him/her to participate in meal preparation

6) (KC)  Fill in the following grid according to the process recommended by IDEO:

	Observations (or Behavior/Environment)
	Opportunities
	Follow-up (or Design direction)

	· At 1 p.m. the bicycle racks north of Ford were completely filled.  One bike had apparently been locked accidentally to another close to it on the rack. 
	Provide more room for bicycles at that location.
	Install more bike racks.

	· At 2 p.m. five bikes were parked in the landscaped area outside the front door of Ford.  One of the bikes had apparently damaged a bush there.
	Prevent damage from bicycles to the landscaped area.
	Build a fence around the landscaped area.

	· At 3 p.m. two bikes were parked on the paved area outside the front door despite the presence of the sign warning against parking bikes there.
	Keep people from parking their bicycles in the paved area.
	Install a metal detector that sounds a loud, irritating alarm whenever a bicycle is placed in the paved area.


Possible Questions for Quiz #3
Your team has been asked to improve the design of a small cafe in a college classroom building, where students and faculty complain about long lines and inadequate seating. As a result, you have recently spent time observing people at the cafeteria. 

Complete the table using the categories discussed in the EDC textbook or by Amy Schwartz in her lecture.  Include the appropriate headings for each column. 

	
	
	

	· Long line for sandwich counter, staffed by one server, often extends 3 ft into hallway. Average wait time for sandwich is 6 minutes and 30 seconds.
	
	

	· People at vending machines mill around; can’t find lines for specific machines.
	
	

	· All booths are full. Five have just one person studying. Several people walk down the aisle looking for seats. Five people eat standing up, blocking the aisles.
	
	


A team redesigning the doors at the front entrance of Tech observed people using these doors from 10 to 11 am on a weekday.  Below is a portion of their observation analysis table.  Complete the table using the categories discussed in the EDC textbook and by Amy Schwartz in her lecture.  Include the appropriate headings for each column. 

	
	
	

	· 4 people dropped their books while trying to open the door
	
	

	· 70% of people used the middle set of doors, causing frequent bottlenecks
	
	

	· 8 people got their backpacks caught on the door
	
	


Your team has been asked to improve the design of bicycle parking outside the Ford Design Center and have recently spent time observing the current patterns of bicycle parking there. 

Complete the table using the categories discussed in the EDC textbook and by Amy Schwartz in her lecture.  Include the appropriate headings for each column. 

	
	
	

	· At 1 p.m. the bicycle racks north of Ford were completely filled.  One bike had apparently been locked accidentally to another close to it on the rack. 
	
	

	· At 2 p.m. five bikes were parked in the landscaped area outside the front door of Ford.  One of the bikes had apparently damaged a bush there.
	
	

	· At 3 p.m. two bikes were parked on the paved area outside the front door despite the presence of the sign warning against parking bikes there.
	
	


Ischemic strokes have many causes.  Our users have all suffered from an ischemic stroke due to restricted flow of blood through the carotid artery.
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Figure 1

Based on the discussion of brainstorming in the textbook, list 5 ground rules for brainstorming and explain the rationale for three of them.

The following table presents a summary of user ratings of three alternative designs for a device to enable users with limited use of one arm to cut steak.  Explain three problems with the table’s presentation of the data:

Table 1

	
	Weight
	Comfortable grip
	Ease of cutting
	Aesthetic appeal

	1
	7
	8
	8
	4

	2
	4
	7
	6
	9

	3
	6
	8
	5
	7


[image: image2.wmf]




The following graph presents user test results for the amount of time users took to complete a task with each of three alternative designs created by a team.  Explain why the graph is misleading.
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